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BACHELOR OF SCIENCE (B.Sc.) 
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Cr) 	 LIFE SCIENCE 

CD 	LSE-09 : ANIMAL DIVERSITY-I 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any six questions 

from question no. 2 to 8. 

1. 	(a) Choose the correct alternative from those 	3 
given in parentheses. 

(i) Division of the body into smaller 

transverse compartments along the 

anterior-posterior axis is called 

(segmentation/ fragmentation). 

(ii) In most gastropods, digestion is 

(extracellular/ intracellular). 

(iii) Echinococcus granulosus is a cestode 

found in (dog/pig). 

	

(b) State whether the following statements are 	3 

True (T) or False (F). 

(i) In pseudocoelomates, the cavity 

between ectoderm and endoderm is 

completely filled with mesoderm. 

(ii) In most hermaphrodites, the female 

gonads mature first. 
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(iii) The intermediate host of Fasciola 

hepatica is a snail. 

(c) 	Give the term used for each of the following. 	4 

(i) The process by which an unicellular 

organism divides mitotically to form 

two equal individuals. 

(ii) The process in which unfertilized eggs 

give rise to females only. 

(iii) The anterior portion of the worm 

Eunice viridis that regenerates its 

posterior part. 

(iv) Directional movement either towards 

or away from a source of stimulation. 

(d) 	Fill in the blanks. 	 5 

( ) 
	

The mosquito belonging to the genus 

	

 	transmits encephalitis 

virus. 

(ii) The mode of nutrition is 

in Amoeba. 

(iii) Horse-shoe crab included under the 

subclass 

(iv) In honey bees, the 	 die 

after mating. 

(v) 	 are the main locomotory 

structures in oligochaetes. 
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2. (a) What is regeneration ? With the help of 	6 

diagrams, explain the regeneration process 

in Hydra. 

(b) Draw a well labelled diagram of cross 	4 

section through arm of starfish. (No 

description is required). 

3. (a) Give any four salient features of Phylum 	6 

Porifera. Classify this phylum upto the class 

by giving one example of each class. 

(b) 	Name the parasitic crustacean living in crab. 	4 

Give its two salient features and mention 

its class. 

4. (a) Name any tine pests of agricultural 	5 

importance, and mention the nature of 

damage caused by each of them. 

(h) What is meant by social organisation in 
	

5 

insects ? Write any two advantages and two 

disadvantages of social organisation. 

5. Describe alternation of generation in malarial 	10 

parasites. 

6. What is polymorphism ? With the help of 10 

diagrams describe various polypoid forms of 

Siphonophores. 
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7. With the help of suitable diagrams, explain the 10 

hormonal control of moulting and metamorphosis 

in insects. 

8. Name the three silk producing insects. Describe 10 

the life cycle of mulberry silk worm alongwith the 

process of silk production. 
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